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The figures in the margin indicate full marks for the questions

1. Tick (/) the correct answer in the brackets provided :
1x5=5

(a) Which of the following is a core discipline
underlying organisational behaviour?

(i) Motivation ( )
(it} Sociology { )
(iii} Teamwork ( )

(iv) Leadership ( )
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(2)

(b) Who in the following list has/have power in the

(c)

organisation?
(i) Only executives ( )
(i) Only management level { }
(iii} Only workers ( )

(ivj Executives, management and workers

( )

Which of the following is an example of an
intrinsic motivation?

(i) A pay increase ( )

(it} Promotion { )

(iii) Satisfaction in a job done well { )
fiv) Good working conditions { )
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(3)

(d) A transactional leader is one who

()

(1)

(iii)

(iv)

inspires people and has strong interaction
with them ( ) '

does deal with people in order to get them to
do things the leader wants { )

is the ideal form of leadership ( )

works for long-term goals of the
organisation ( )

(¢) Organisational behaviour is

(Y

(1)

(1ii)

{i11)

a discipline ( )

only theoretical { )

a field of study ( )

positive scicnee stppesting only couse and
cttect relntionslap ( )



( 4)

2. Fill in the blanks : ' 1x5=5

{a) The term ‘personality’ has been derived from

Lty WO somesn sovms.av o sevmnmnsss ,

(b) Organisational development interventions are

AlSO TEIETTEA T0 A8 trviiiierireieetrereeererarssereeereriens

Or .................................................. .

- {¢) Dysfunctional conflict  can result in

........................................ outcomes.

{d} The work of the famous Russian physiologist

............................... viviireien.... demonstrated the
classical conditioning process.

(e} Organisational behaviour is ...
1y e,
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(§)

3. State whether the following statements are True (T)
or False (F) by putting a Tick (v) mark : 1x5=5

() Organisational behaviour is a discipline.

(T / F)

(b) Organisational performance is largely affected by
the way individuals behave at work.

(T / F)

(c) Locus of control refers to controlling of money,
machine and material by manpower.

(T / F)

() Job satisfaction leads to absenteeism.

(T / F)

(e Tranmactional analysis provides o frnmework to
tnderstand an individunl interpersonal style.
(1 F)
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(6)

4, Write short notes on the following : 2x5=10

(a) Study of Psychology



(7))

(b) Perception



( 8)

(c) Stroking



(d) Conflict Management

(') CGiritd Training
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